9 4
62 _ASOIME
step 0 Et IHE'I
step 1450| =

step 2 IiII}QI ﬁﬂé*.

step 3 259 mp3
step 4 HITIO| 1LIE B
step 5 WG mp3 S

step final & B =2l &8 II=
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*x PI7h2 CHOl BAE H/HStn FX[StH= Bt 70 Qs SEQICE @ From this (=3,
people (Z=TSICH relationships with others [to fill / to be filled with] a (ZE2H2) need
(£7), and this need (<= YX|>~9| 7|Z=7t E|CH many emotions, actions, and decisions
(~&2t &) life. @ Probably, the need [to belong / belonging] are a (A=) of human
beings'’ (Z12t2]) history as a social species. ® (<5g>27h [have long
depended / have long been depended] on the (&) of others for the  (&8) of food,
(E3) from (<24H"H>ZAXD, and the (85) of (SR
knowledge. @ Thus, seeking ZFEgEh and (20l UE) relationships have long been
(E+HQl) for human HEE). ®
M [1-1] & 22 2E0| S0{Z L2 OIE ML
M [1-2] ® =2 Z tiE=s QoM L2 BAHS IEAR
2-11 ¢ 20N Ot E<HMFES0] F0{Z HHEHD IX=2 ( )

M [2-2] 1 EE & x2 22T S ot Ch2e| oFE S80I FOT =0 HAH SHSHAL.

Without the (form) and (maintain) of | 11 1,
early [ 11 ] probably (will) not (be) able to | 11 ] or (adapt) to their [ 11 1.
<x4>
1.0z [ | 222 ¥92 HoE K E2 A
2. B3 () BEQO THojs oAl LU #HHEE A
_)gIEF

3] 7 =22 2% - @Y ofMst 23 AOF HIE2A XA, (Zt H=, EH 2l 27H)

]

ofAtet BHEA DA A (ERIOE U Zolg)

4] ¢ 2EE X xx<FHE X SHEE>2 2T jMS Tt O3] OFE 8510l FOIT A0 IAH A2
Human beings (drive) [ lal 11 ] (form) and (maintain) [ 11 1.
<X7>
1. 022 [ 7 RE2 YX2 HoE Mg d2 A
2. B3 () BR9 Chojls HeAl A g A
-8
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_ (~%t& ZE0| AChH be [more / less] colorful than other animal groups,

but zebras are (FEZX|A) [dressing / dressed] in black-and-white. What purpose [do / does]
such high contrast patterns — (=™5tCH? The colors’  (<&3d>9gh) aren't always (Het
oh. @ The question of [that / what] zebras can gain from [to have / having] (<E2E>EEY]) have
puzzled scientists for more than a century. @ [Try / To try] to solve this mystery, (OFl)

(=X} Tim Caro spent more than a decade studied zebras in Tanzania. ® He  (<1tHA|H|>HY
XMISICH theory after theory — stripes don't keep them cool, stripes don't (2EA|Z|0h

(<=5 >Z AKX} — before [to find / finding] an answer. @ He saw [that / what] flies seemed [to avoid /

avoiding] [to land / landing] on the stripes. ® *% O B2 AF 20|, d= SFE7F HYE F7)\= 282

ZFH ES2s & A2 7o o+ b= BES WRICH

[1-1]

my
10
me
A
2
mn
=)
my
Qe
=l
rlo
k=)
ot
i
>+
Ho
Rl
fo

[1-2] 7l =2 Z gz otofA LSS HIS NEAR

[2-1] 7| 20M Ctg 28 <HHFE>0] SO{Z HAET K= ( )

S0 71522 HOl o] 8 dXML,
]

2-2] ¥ 2= T %9

4o
AL
u2
el

HE HI510 L4329 OfFtE 2800 FOIT U0 &A SHBIA|2.

[ 12013, he[ 1[ 1fly[ ] (cover)[ ]zebra[ 1] and, for (compare), [ ] (cover)in [ ] skin.

3] ?1 =2 2% - ofgd oMot RS ROF HEA DKM, (Z, d=, 22X 27H)

Oof A5k A H2A 18 A [EX2= X E0IH]

M4 2 EE I xx<FHE X SHES>2 222 oS Hastn thFe| TS 2800 FO{T =AU WA SHBA2.

[ ] more research, he [ ][ ] stripes can (literal) [ ] zebras from [ - ][ 1
<=
1. 022 [ 1 RES YU2 TS XY E2 A
2. B3 () BEO| THojs LA oA HEE A
X
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Plastic is (3=, 39|) slow [to degrade / degrading] and [tend / tends] to (B 9E) M7}
ChH, [which / that] allow it [to travel / traveling] in ocean (<E+E>SE, o|F) for thousands of
miles. @ Most plastics (8 E|CH into smaller and smaller pieces when [exposing / exposed] to
ultraviolet (UV) light, [forming / formed] (<Z5H>0/H E2tAE). @ Their impacts on the

(HtCte|, di2|) environment and (<22H>9H0 18) is still SES %)
[understanding / understood]. @ These (&) (<=23H>YUXL =2 are [knowing / known] to
[eat / be eaten by] various animals and [to get / getting] into the (30| AFS). @ %% HICH &
of A= CHEES| BetAE XRZES2 O Z7| M0 HICHE dag AJZEANel HH2 itk & One would
have to  (O{1tstCh (Hcish amounts of water [to collect / collecting] a (H|m &)

small amount of plastic.

[1-1] 7l 22 EE0 S01Z L2 OFE ML
[1-2] ¢l 22 Z gz 2tofM L2 BIS NEAR
[2-1] 7| 20M Ctg 28 <HHFE>0] SO{Z HAET K= ( )

* O|2{ot OM SEtAE2 AT AASS

These [ ] (be) very difficult (measure) [ ] they are small
[ ] (pass) [ ] the nets (typical) (use) (collect) [ 1.
<ZA>
1. 022 [ 1 RS 922 HOE XY E2 A
2. B3 () BR9| Thojs oAl YUA #Hys A
_)gllzi-

3] 7 22 2% - @Y ofMst 23 AOF HIE2A DXA[. (Zt U=, EH el 27H)

of Akt 74 s2 nE 2 [EHelE % B0l

4 1 E2E I xx<FHE A SHEY>2| R2T si4S HISHD L4320 O E &SI FOT =40 HAH AT,

[ 1 mostofthe[ 1[ 1 in the ocean (be) so small, there (be) no [ 1[ 1] (clean) up the [ .
<>
1.0z [ 1 RES YW2 HolE MY E2 A
2. B3 () BR9 Chojs HaAl g g A
s
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People have higher (0l &f)s as their lives [get / getting] better. However, the [higher / lower]

the expectations, the more difficult it is [to be satisfied / satisfied]. x % 2ZIE2 Z|HZS SN =M &

M =7l= HEHS SAZ 5 D @ (X Esh expectations leave room for many experiences
to be pleasant surprises. @ One way to do this is by [keep / keeping] wonderful experiences EB).
® No matter that you can (01 37F EICH), [save / saving] great wine for special (BR)s. @

Make an elegantly styled silk blouse a special
permitting] your (£7Y)s, but | don't think it does.
making] sure [what / that] you can continue to experience

wines and great blouses if they don't make you feel great?

(EA2). ® This may seem like an act of [denying /
- (BICHZ), it's a way [to make /

(E/2). What's the point of great

[1-1] & 22 =0 S0{Z L2 OIE ML
[1-2] § 29| Z tHES QoA U2 BEHS IEAL
2-11 ¢ 20M Ctg EF <Y FE>0] S0{E HHDE fK|=? ( )
*x =M= MEHS J|HHS 7HXK|= SRS &= AOo|Ch
2-2] ¥ EE T o 22T sjMS Hastn O3l o|FE EEH0 FO|T =0 S FESHAIL
The | ] is (find) a [ ] (have) [ ] (expect).

<ZA>

1. 02z [ | B2 ¢92 THoE (Y E2 A

2. B3 () BE9 THojs oAl oA #HHE A
_)7g||:F
B] ¥ 22 2% - o} oMot 225 A0} HIEA DXA|Q, (HIZt, MEH V=X e 27H)

oM 2 HEE2A 0% A BNz X Z0|H)]
1
2
M4 9 EE T xx<FTHE & FHUEE>O 22| M2 Tnstn Lo Of+E 285t FOIT A0 LA FESHA 2
We [ 11 ] the (satisfy) we [ 11 ] our lives [ ] (control) our (expect).

<X

1. 02z [ | 222 ¢92 s kY 42 A

2. 23 () BEQO THojs oAl LU #HHE A
1=
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@ *xx 37| £ ot 7K Zit= JEot LHE LRE dt= AHSO

Cl. @ For example, if you [are
ZHME

|

motivated / motivate] [to buy / buying] a good car, you will (A AHSICHH (2 Z)s online,
look at ads, visit (CH2|E)s, and so on. @ (OFREZEX|2), if you are motivated losing
weight, you will buy low-fat foods, eat [small / smaller] (12129 s, and exercise. @ Thus,
someone motivated to buy a new smartphone may — (ZCH  (F7IHQ) money for it, [drive /
driving] [thorough / through] a storm [reach / to reach] the store, and then [wait / waiting] in line buying
it. ®

[1-1] 9 22| Z=0 S0{Z YHL 0FE KA

[1-2] 7l =2 Z gz otofA LSS HIS NEAR

[2-1] 7| 20M Ctg 28 <HHFE>0] SO{Z HAET K= ( )

* 57 20k 8EE O 0| 14 2 A5 WES

= «wof ofL[2}, F=H| WSO Azt oHX|E
s

[2-2] ?l EE T %o PR A4S U5t Ch32| 0f7E 2830 FOIT =AU SH SHBIA|2,

(Motivate) [ 11 ] (drive) the [ ] (behave) that | ] a goal (close) [ 11 ]
(create) [ ] (expend) time and energy | ] (prepare) (behave).
<ZA>
1. 022 [ 1 RS 922 HOE XY E2 A
2. B3 () BR9| Thojs oAl YUA #Hys A
_)gllzl-

3] ?1 =2 2% - gy oMot RS ROF HEA DKM, (BZ, d=, 22X 27H)

of Aok A HI2A 18 A [EX2= X E0IH]

4 ? 2E I xx<FHE A SHEY>2| R2T si4S HISHD Lh32] T E &I FOT =40 HAH AT

O

One [ ] of (motivate) (be) (behave) that | ] (consider) [ ].
<ZXN4>
1.z [ | 222 g92 o E K E2 A
2. B3 () BE9 THojs oAl oA #HHEE A
=
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@ *xk T2 HEA=2 s B2 Mo HFo| =2otets =5t AS HARRLL @ They are aware [that

/ which] no two people act in (‘d=t38]) the same way and so do not feel threatening if they see

one employee [going / to go] about a task [different / differently] than another. @ If a job [was / is]
(d3H2E) done, as long as people are working in a (G (22l%]&) to

the organization (ZZ]) (for example, as long as salespeople are keeping to the company's (=2 A

2l selling (" HH)), then that's fine. @ If an acceptable final (A1} [wasn't achieved / didn't

achieve], then such managers (CHSSIER by discussing it with the employee and analyze the

situation, [to find / finding] out [that / what] () or (F7H& Q) skills that person will

need [to do / doing] the (At successfully in the future. ®

[1-1] 9 229 2=0 S0Z L2 OIE MRAIR

[1-2] ¥ 29| 2t &= QoM Y2 BEHS TEAR

[2-1]1 9| 20IM Ot EE<HMUAES0] 02 HES AX|=? ( )

221 91 TE H %0 22/ |4S H1OLR 120l 0TS FB0] FOIT T WH FISA|R.

[ 1, they [ 11 ] the end [ 1.
<ZA>
1. 02z [ | B2 ¢92 THoE (Y E2 A
2. 23 () BE9 THojls TaA| oA #HHS A
sl

3] 7 22 2% - @Y ofMst R2S HOF H2A DXA[. (AZH U=, EH 2l 27H)

[ 1]

Of M 2o HE2A 103 A [EHele 2 20[E)

M4 EE I xx<FHE X SHES>2 22 s Hadtn tOhF2 TS 280 FO{T =AU WA SHBA2.

Good (manage) (learn) to [ ] the [ ] (feel) of | ] when (assign) [ ].
<X
1. 022 [ 1 B2 922 HoE XY E2 A
2. 23 () BEQO THojs oAl LU #HHE A
1=
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*x 7718 LEHOM, XA42 FEHT FxH SFO| LRUM AMHEC=E St SH7t ULt @ For

example, when two-year-old children and chimpanzees have learned that, of two boxes [presented /

presenting] to them, the one with a triangle of a particular size and shape always (Z&StCed

(0" A Q) food, they had no difficulty [applying / to apply] their (2d3) to triangles of
very different (2Y). @ The triangles made smaller or larger or [turn / turned] (A
F=Z). ® A black triangle on a white background [was replaced/ replaced] by a white triangle on a black
background, or an (22 LIEtWHChHd triangle by a  (CFE MZ0| 4O0|X| %2) one. @ Similar
results [obtained / were obtained] with rats. Karl Lashley, a psychologist, [has asserted / asserts] [that /
what] simple (XIZhs of this type are (EHXON in all animals (ZZetsto)

humans. ®

np
1o
me
L
=2
mn
<
my
ne
=l
rlo
=
ot
i
>+
o
>
fo

[1-1]

[1-2] ¥ 29 Z S QoM L2 HAZS T2AQ.

[2-1] 7| 20M Ctg 28 <HHFE>0] SO{Z HAET K= ( )

221 91 TE H %0 22/ |4S H1OLR 120l 0TS FB0] FOIT T WH FISA|R.

These [ ] (seem) not [ 11 1 with (recognize).
<ZA>
1. 022 [ 1 RS2 922 HoE XY E2 A
2. B3 () BE9 THojs oAl oA #HHE A

3] 7 22 2% - @Y ofMst R2S HOF H2A DXA[. (AZH U=, EH 2l 27H)

HEA 28 A [EXoE I E0|H]

M4 EE I xx<FHE X SHES>2 22 s Hadtn tOhF2 TS 280 FO{T =AU WA SHBA2.

There is | 11 11 ]in [ 1 (develop), (percept) [ ] with (recognize)
(outstand) [ ] features.
<X
1.0z [ | RE2 992 HoE K €2 A
2. B3 () BEQO THojs ZoA| LU #HHE A
S
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There is a very old story involves a man [trying / tries] to fix his broken boiler. Despite his best efforts
over many months, he can't do it. @ The engineer arrives, [gives / giving] one CHHZ)  (FEE)
on the side of the boiler, and it o (LA7| &ESIX|CH. @ The engineer gives a bill to the
man, and the man ("I*OPEF)S that he should [pay / be paid] only a small fee as the job [took /
taking] the engineer only a few (=7hs. ® The engineer explains [what / that] the man is not
paying for the time he took [to tap / tapping] the boiler but (235|) the years of B8
involved in [knowing / known] exactly where to tap. @ %% H& 7|At7t HYe{E FE2|= Z0t OHE7LR]
2, M0l #ohE B2 AlZto] A2 Ze = QICH @ In fact, it is often simply a question of known exactly
where to tap.

[1-1] & 22 =0 S0{Z L2 OIE ML
[1-2] ¥ =22 Z 2= QoM L2 HHZ JIEAR
2-11 ¥ 20N OfE EE<UMFES0] E01Z HHES X|=7 ( )
AR O mY|3ln MEJIE 8272 AABC
2-2] & EE & %o 22U sfMS st 22| OfFE &30 FOIT 0| S FESHA|I2.
[ 1. he (give) up and (decide) [ 11 ] an [ 1.
<ZA>
1. 022 [ 1 RS2 922 HoE XY E2 A
2. B3 () BE9 THojs oAl oA #HHE A
sl

3] 7 22 2% - @Y ofMst R2S HOF H2A DXA[. (AZH U=, EH 2l 27H)

—i, ey

Of M 2o HE2A 103 A [EHele 2 20[E)

M4 EE I xx<FHE X SHES>2 22 s Hadtn tOhF2 TS 280 FO{T =AU WA SHBA2.

Just [ ] the [ ] engineer (tap) the boiler, (effect) [ ] (do) not have to be
(time-consume).

<X

1 HEE ]} RES YL TR MY ¥E

2. B3 () FE9| THojz EaA| oA wHHS A
SR
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@ 0¥ o 2EYHE AX[7| lof ofAA= ot HAtet B E O 22 O|0F7[7F RULH.

.
@ Mol 2 AMo| LoE 273tn, 1= 1A £ gtk ZF, 0 ®ysln HEJE 8272 ZA
sic,

.

St H

—_ -

® ZIA7F EASto] 2Rl &

—

mjo

HEA FEEIX 2Rt HS5k7| AESCE

@ 7IAtE SR HTME F1, GAHs JIAZE 3 Y8 he O oiztel Ajzho H3Y| ME0 238
X2 3H0F SHChm FEFBHCE

—

=
® ZIAkE Aol B E FE2|= H ZEZ AIZHO] ofL 2, 23|23 Fets| ofr|E FE20F &X|E o= Zat
EE o FHo| g gAt7t =5 K25t Ao2tn 2T oo

rlo
>
[~
o
N
e
1}
fo
rr
o
i

® Y& ZIM7F EYEE FEE[= Al ORI 2, 2abHQl Biots

—

@ Ard, M2 A2 B =5 oL E FE2{0F &X|& Ot A2l ZH|OILt.

—

AS0L HHAHIAL http://cafe.naver.com/incheonanswer



a1 20184 68 LOIILLt 35H

* % CHOI ZAOMO| HA[X|O= W& st’r_ of A KOl ZAotE[of UCEH That is, they (X|&E3tC]
the real world, to something (QIF2]) to both speaker and listener;, (S Al0]) they
also [refer / referring] to the relationshlp between (AR <E+E>). © For example, a
(H2|XH may be said toa (& XY), "See me after the meeting.” @ This simple message has a
content message [what / that] [tells / telling] the trainee see the supervisor after the meeting. ® It also

(Z8S5ICHs a relationship message [that / what] says something about the (A
between the supervisor and the trainee. @ You can (CIAIBLLH) this most (B=SHA) if you

(4 43ICH the same command [being made / making] by the trainee to the supervisor. ® It

appears ({43 and out of place, because it [is violated / violates] the normal relationship
between supervisor and trainee.

[1-1] 7| 22 EE0 S01Z L2 oFE ML

[1-2] 7l =2 Z gz otofA LSS HIS NEAR

[2-1] ¥ 20M LS 2 <Ha7E>0] S0{Z HEe fX|=? ( )
* O ZHEI3t BRo| ASE BRINZ 1 +% NANH BAY & A ohe K9le] Ko7t Exfsicts
Ag 2ol Fo

[2-2] ?l EE T %o PR A4S U5t Ch32| 0f7E 2830 FOIT =AU SH SHBIA|2,

[ ] the [ ] of the simple [ 11 ] there is a [ ] (different) that (allow) the (supervise) to
[ ] the trainee.

<ZA>

1.2z [ 1 B2 YU HOE MY E2 A

2. 23 () BEo THojs oAl YA sy A

3] ?1 =2 2% - gy oMot RS ROF HEA DKM, (BZ, d=, 22X 27H)

— ’

of Aok A HI2A 18 A [EX2= X E0IH]

4 ? 2E I xx<FHE A SHEY>2| R2T si4S HISHD Lh32] T E &I FOT =40 HAH AT

[ ] messages [ 11 ] and (relation) [ 1.
<ZXN4>
1. HE=s [ | #E2 g2 o E Mol €2 A
2. 23 () FE9 CHojlz HaA| Yot wHEe A
e
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The scientific study of the EEESR)) (<E5+¥>EY) of colors can [trace / be
traced] back to Isaac Newton. One day, he (<IFHAIH>LASICH a set of prisms at a big

~ ((87]) AlIE). He took them home and [begin / began] to (AYSICH with them. @ In a [0
darkening / darkened] room he allowed a (82, 7t=) _ (4) of sunlight falling on a triangular
glass prism. @  (~SIXtOFA}) the white ray hit the prism, it (<AHAIN>Z2E|Z|CH into
the (¥1=3h colors of the rainbow. 3 This (2474) was not new, as humans [observed / had
observed] the rainbow since the beginning of time. @ The (2H89]) colors were produced a

=]

white beam. ® *x 2N = AHER M2 Sooloz N MMA0| ISOE = ALt ZE LYRC

r

[1-1] 9 22 EE0 S0z LR2 02§ AL

[1-2] § 29 Z tHES QoA U2 BEHS IEAL
2-11 ¥ 20N Ot EE<HMTAES0] S0{E HHES /K=2 ( )

2-21 91 2E A %o Q2| A4S HNSHD C}32| 0TS LI FOIT TH0| WA HEBIAIL,

[ 1 (be)only[ ] Newton (place) a second[ Jinthe[ Jofthe[ ][ 1lhe(find)[ 1[ 1

3] ?1 =2 2% - ofEy oMot RS ROF HEA AXA. (BIZ, d=, ZEF L 27H)

I

Oof A5k A HE2A 18 A [EX2= X E0IH]

4 2l EE X »xx<FHZE A SHEY>0 P2 siMS FISL C132| 075 2850 FOIT =0 A XTI,

[ ] he (conclude) [ ] white [ ] can (produce) [ ] (combine) the [ ] colors.
<ZX4>
1. HE= [ | 222 g92 HoE K E2 A
2. B3 () BEO HHojs oA QoA BHE A
_)JSH:I-
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When | was very young, | had a difficulty to tell the difference between (<=H>3E) and
(<E25+E>8). @ But there is a (58%h difference between them. @ Dragons are
appeared in Greek myths, legends about England’'s King Arthur, Chinese New Year (<ESFE>AH),
and in many _ (<=F&>0|0F7|, A3%}) throughout human history. @ %% 1g{L} HE O50| @5 OF
=0Tl O|ot7|of|lM Fasot Ags otht die, ot Q1ZF ddol ME0|Rem ZAF EXSHA| UL @
Dinosaurs, however, [did / didn't] once live. They - (<PAA X > K[ 0] AEChH for a very long

time, [as if / even if] human beings [once / never] saw them. ®

[1-1] 7| 22 EE0 S01Z L2 oFE ML

[1-2] 7l =2 Z gz otofA LSS HIS NEAR

*x JE2 29 H & Mo EXjgH0 1 w7t spMo= HEL0f Q17| IR0 22+ IS0 Cisi ¢ Qlck

221 91 TE H %0 22/ |4S H1OLR 120l 0TS FB0] FOIT T WH FISA|R.

They (exist) [ ] 200 [ ] years ago, and we (know) about them [ ] their [ ]s (preserve) as [ 1.

<ZA>

1. 2= [ | #E22 g%2 HYE M €2 A

2. 23 () FE9 THojlz HaA| Yot wHye A
LR

3] ?1 =2 2% - ofgd oMot RS ROF HEA DKM, (Z, d=, 22X 27H)

Oof A5k A HEA 28 A [EHQE I S0’

M4 2 EE I xx<FHE X SHES>2 222 oS Hastn thFe| TS 2800 FO{T =AU WA SHBA2.

But [ ][ ]they [ 1 in stories (create) today,
they (have) always (be) the [ ] of the human (imagine) and [ ] (exist).
<ZXN4>
1. 022 [ 1 RES YU2 HoE XY E2 A
2. B3 () BR9 thojls HaAl doHA g A
=
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@ W7t Ol Of#S mf, ZED} 89| XH0|2 PHSlE O {2420 YUULH

!

@ &Lt 25 Aolol& Sa¢et Xto|7t ULt

=
® &2 dZ|l& e, = Arthurdel B4, =2 Mal dE, 22|10 AF Ao 2T 2 ojop7|o] S
ct.

.

@ 2Lt HIE O50] @sE USOT O|op7|0M St 9 S ot of:, e A7 g4 HE0|AcH
23 EMSHA| AL

=

N
® HIE Q0| A52 EXl= IYX[T, 152 23S X| 70| HUALC
N
@ 152 29 d & Mo EXfAL 2 ot iMooz HELO V| HE0 f2l= 250 s & UCH
N
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*x St EAMPOIAM 2|0 CHst Heje= MAEC 25Y W O 5235t SHSICL Years ago, before

(<Ed>HA FH|) were such a (X Ql) part of the library environment, we
had only [dealt with / to deal with] noise [producing / produced by] people. @ Today, the (=
52) use of computers, printers, and other (&HH]) have added machine noise. @ People noise
[have / has] also increased, because of group work and (23 [is / are] (252l
parts of the learning process. @ So, the modern school library is (4 O|&~Ottl) the quiet zone
[it once was / they once were]. @ Yet libraries must still provide (=8 for study and [to read

/ reading], because many of our students want a quiet study environment. ®

[1-1] 7| 22 EE0 S01Z L2 oFE ML

[1-2] 7l =2 Z gz otofA LSS HIS NEAR

[2-1] 7| 20M Ctg 28 <HHFE>0] SO{Z HAET K= ( )

[2-2] ?l EE T %o PR A4S U5t Ch32| 0f7E 2830 FOIT =AU SH SHBIA|2,

(consider) this [ ] for library [ 1, [ ] (be) important (design) spaces [ ] unwant) noise can
(eliminate) or [ 1[ ] (keep) toa [ 1.

3] ?1 =2 2% - gy oMot RS ROF HEA DKM, (BZ, d=, 22X 27H)

1

of Aok A HI2A 18 A [EX2= X E0IH]

4 ? 2E I xx<FHE A SHEY>2| R2T si4S HISHD Lh32] T E &I FOT =40 HAH AT

[ 1[ 1in school [ ] (be) (important) and [ ] today than they (be) in the [ .
<ZXN4>
1.z [ | 222 g92 o E K E2 A
2. B3 () BE9 THojs oAl oA #HHEE A
=
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@ _ (<F™X|At>) the many forest plants [that / what] can be caused E=, %), wild
mushrooms may be (<T™X|At>) the most dangerous. @ This is [why / because] people sometimes
(235t} the (=d0] AE) and (HE2 = Us (<ExH>FF), or they
eat mushrooms without [to make / making] a positive (&Ql) of the variety. ® Many people
enjoy to hunt wild (B) of mushrooms in the spring season, [because / because of] they are
excellent edible mushrooms and [is / are] (CHEFS|, Of2) [prizing / prized]. @ * % AT =Z SHA At

252 OFd HAs 97| Ho| M8 HAs MEY 5 A00f St ©

[1-1] 7l 22 EE0 S01Z L2 OFE ML
[1-2] ¢l 22 Z gz 2tofM L2 BIS NEAR
[2-1] 7| 20M Ctg 28 <HHFE>0] SO{Z HAET K= ( )

¥
|
o
-
7
hies
<
0=
T
>
rlo
m
oot
ok
>
|
i
0x
|o
HU
>
o
uin
10
|
o>
ujo
o
!
Q_I-
A

[2-2] ?l EE T %o PR A4S U5t Ch32| 0f7E 2830 FOIT =AU SH SHBIA|2,

=2 = —
[ 1 some [ ] mushrooms (be) [ 1, (lead) people (lose) their (life) [ 1 1 ] mushroom [ ].
<ZA>
1. 022 [ 1 RS2 922 HoE XY E2 A
2. B3 () BE9 THojs oAl oA #HHE A
sl

3] ?1 =2 2% - ofgd oMot RS ROF HEA DKM, (Z, d=, 22X 27H)

Oof A5k A H2A 18 A [EX2= X E0IH]

M4 2 EE I xx<FHE X SHES>2 222 oS Hastn thFe| TS 2800 FO{T =AU WA SHBA2.

(be) [ 1 a person must (be) able (identify) [ ][ ] before (eat)[ 1[ 1[ 1
<X7>
1. 2= [ 7 RE2 922 HYE MY E2 A
2. 23 () BE9 THojlz EaA| oA HHES A
_)Jgnzl-
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@ *x T2 A= CHE MESHO| AP HAAE 9o Mot MNH HHo S92 XHBIL @ In
one study, (<23 >EJHAH [who / what] (Al held a cup of hot (versus iced) coffee
judged a target person as [to have / having] a “[warmer / colder]” a4 ( (2o,

(KIE3H); in another study, participants [holding / held] a hot (versus cold) pack was more [likely /

unlikely] [to choose / choosing] a gift for a friend instead of something for [them / themselves]. ® These

(<Ed>4H) (2 ==CH [which / thatl ~ (EFX]) contact experiences of physical

([h5E8h [activate / activates] feelings of (CH2IZtaly warmth. @ (HICHZE), this

[temporary / temporarily] [increasing / increased] activation of interpersonal warmth feelings then influence
judgments toward other people in an (Ql=3HX| §42) (A, ). 6

= [Experience / Experiencing] physical warmth [promote / promotes] interpersonal warmth, [which / that]

[happen / happens] in a(n) automatic way.

np
1o
me
L
=2
mn
<
my
ne
=l
rlo
=
ot
i
>+
o
>
fo

[1-1]

[1-2] ¥ 29 Z S QoM L2 HAZS T2AQ.

[2-1] 91 20IM THg ET<HYTE>0] S01Z HES X=? ( )
*x ot =0 EdstE dgjol #YS2 1 0|22 ohE XHE,
2 ArEO| QIMBEA] ot A O|=o| &0 EHE HS0| FefS O[EIC

221 91 TE H %0 22/ |4S H1OLR 120l 0TS FB0] FOIT T WH FISA|R.

[ ] feelings (activate) inone [ ][ Jfora[ 1[ 1
and (have) influence [ ] (judge) and behavior in [ ] contexts [ ] the person’s (aware).
<ZA>
1. 022 [ 1 RS 922 HOE XY E2 A
2. B3 () BR9| Thojs oAl YUA #Hys A
sl

3] 9 2o 29 . o4 oM RS ot B DXL, (M ME, WEN e 27H)

of Aok A HEA 28 A [EHe: I S0/’

4 ? 2E I xx<FHE A SHEY>2| R2T si4S HISHD Lh32] T E &I FOT =40 HAH AT

[ ]studies|[ ][ ]the (importanty of [ ][ 1[ 1for[ 1[ 1 with others.
<ZXN4>
1. 2= [ 1 RE2 922 HoE MY E2 A
2. 23 () BEO| THojE oAl YUA gHys A
1=
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a1
Hundreds of thousands of people

20184 68 2ojxLt 41~42H1
(<TFAAH >0, o{-EE MLICH far [to take / taking] part

(<®=X|AL>) the Canadian  (S29) ¥, 2O F9). ® Many saw [why / how] (<=
&>AHZF D) of the northern regions (<DFAAH)> X ZSICL their food in the winter—by (<O

HHY > £0) ECH) the meats and vegetables in the snow. @ But probably [a few / few] of them
had thoughts about how might this custom  (~2} ZtAE|C}H) other fields. @ One [who / what] did
[was / wer] a young man [naming / named] Clarence Birdseye. @ He started wondering: Why can't we sell
food in America [that / what] operate on the same basic (2], ¥%)? ® With this thought, the
frozen foods industry was born. He made something (EYSH H|®3H from what, for the
northern  (AES), [was / were] the (HH3Sh practice of (<A@ HA > EESIC] food.
So, what went on in his mind when he (<FHAIK>2HESIE this means of storage? Something

(253, galol _ (27|4d) is a way of [to

j
2

mysterious happened in his curious, fully ) mind.

add / adding] value to [which / what] you see. %% Birdseyel| Z2, S7|H2 MES E= LHXQ #FO
M 38 HOojLA & B2 =93] ZMCE It set the stage for (&4l) and discovery, for [to come /

coming] up (<T™X|Al>) [new something / something new].
[1-1] & =22 BE0 S0{Z Y2 HIE KRR
[1-2] & 22| 2 g QoM L2 BIHS LEAR
M [2-1] & 20M T2 2 <HUTE>0] S01Z AT /X=? ( )
* A= 2 F2 207|9F 22[7t O|H WAooz &35 RS I
ot HZE RAoHCHE AMEES Y0 SO
2-2]1 1 EE & %2 22U siMS Fst 22| OfFE &3 FOIT 0| B FESHA|I2.
He (be) (amaze) (find) [ ] (fresh) (catch) fish and duck,
(freeze) (quick) in [ Ja [ 1 (keep) their[ Jand [ 1
<ZXN4>
1. 022 [ 7 RE2 YX2 HoE MY d2 A
2. 23 () BEO Cojs oAl YA se A
-8
M 3] ?f =22 2 - of e oMot 222 XOF HIZ2A DX|AL. (HIZh ME, LEH Q| 27H)
O Ast A HEEA 2X A [EH2l= 3 E0[H]
1
2
MM EE T xx<FTHE X SHEY>2 22T siMS St CHZo| OFE &8310] FOR ZAH0| SHA| FESHA L
In the [ ] of Birdseye, [ ] (be) [ ] enough (lift) him [ ][ ]the [ ] way of (see) things.
<X7>
1022 [ 1 RS YU2 T K @2 A
2. 23 () BE9 tojs oAl YA sgg A
s
AS0L HHAHIAL http://cafe.naver.com/incheonanswer



41~42¢

20184 68 LOIILLt

e

41~42

of &olst7| ¢l M 4¥S MLt

(=N |
T =

i

| AFEf=0] Lttt 2

ol
8o

ot

<1

e
e 1

A3

X AHFUS0| A=0 ofF

=S
:l.T—_"—

@ 1

Jd

7|2F X

=

s
=

@ 1

= & 0] 50| BHE Zoket of

ot ofof 1

SHA|

®

‘—,

Of ALY

o
20 —

= 0|82 &

Al B+ AE2 Clarence Birdseye2t

=
o

® -1

S

= fE7etn a8 ot

ot
=

2lof ek M2let M S 0l=0AM

2 71250l ¢

= ' 2l At Z

@ -1

=
10

K

.ﬁ

®

YL o] A

@ -1

%

20| LOfRtrt.

ofnu

® 1

® Birdseye9| &4

\—,

http://cafe.naver.com/incheonanswer





